EARAZROREIERT — 2 N—XBISY —F 2019578208 () 8MEMAE3H

Pl 3 — 84 TR 3% ‘ (X8l /™ ‘ [REmE] - |4 (B) 13000 TR
[AE£] 1% :250,000” ~ 23#%&:7500M  33%&:25000MH  43%&:15000 M ~ 57 :10,000
B ®RBE mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
e RHEET : -1-1- — FURS (&H)
1 4 Y4 a=7 4 3 54_0L 1.(2_3).0 1-1-1-1 | 38.4 3 42(1);) /J\m%ic "
R:27)—>rk—A— B4/ tE> -0 FiE &
o, /iy 5 [ii{m}2 :23. 2o . = AR (EH)
5 6 LAY # 3 5.0 1 (2:;3)6 7-3-2-2 | 38.7 2 (5_)(1)5) L =1
Vv Ray1A4 B:ATL 44— Il F*
. s 124, —8-7- . — THERE (E8)
318110 Ly /=)L 3 54.0 1(224)0 874 | %83 ! (4_142) *}E#%—ﬁﬂl -
L:g4¥>v ML B: TS5y 7EXy b hFAI X5y K
= . o5 — IIA# (£5)
al7lg| 7y b—x H 3 e 1.(234).6 4-5-5-5 | 39.3 6 :?:)) g
R:HrAHio B:T7rp—XbEZX HET7—L
. B3 | MR 1:24.8 9-6-4-3 [39.5| — 7 363 | HRZ (1K)
5179 | b7RA-X 54.0 (3/4) (3) |ERRE
RZATT—RMLVRTT—k Bixqvgy> T—IWRT 7 —L
S=a s BERE—BB 126. ~4-6- . - FIEE (&
6 7 A9+ TS5o o1 4 3 ;_0 1(266)0 3-4-6-7 | 40.7 5 (4+375) (E?Fﬁm =1
LN=HNK BidrLrR HE B—
- HKFRA : 03— - AEBLF (1E8)
71515 KIS hYF— 43 250 1.(2‘8.8 2-2-3-6 41.9 8 (4_526) it "
LZANT T4 ZXF— B bhIFIovA> EH B
R N AR . _11-0 _ MEEBF (ERK)
8 3| LFrIUART 4 3 =% 1.(227).2 11-11-9-9 | 40.1 11 (4_011) i
L:8=/FLLy b B:NYZ Al Rl
4 3 | WTHE 1:27.2 10-10-8-8 | 40.1| — 9 421 | REAE (ER)
9|11 |F3¥= 54.0 (4 ¥) g |=ARE .
L:eLZANC N BT #Et /—Rex
N N INATEZ — . = = INFEX (1£8)
™ > DR "3 %0 (Fh1k) & 0 (4_751) *EW?E% -
R4/ d—d— BidrzZ—X70Y ZARh—bLTp—LaA—RL— 3>
. 3 | AllEE — ~ - - HEXRE (EE)
xx| 8 |11| RFTHIE e 54.0 (shik) 7 1 (4139) %EE?E? .
LixA 23R —=5— B:XA42avFRhIL EEicke]
@ 1 — S —EBlIEf
13=7r= 4,5,7,8,10,11,6,2,9,1,3
2= = 4,5,6,7,8,9,11,10,2,1,3
Jol=5r= 4,6,5,9,8,7,10,1,3
40—+ — 4,6,9,10,8,5,7,1,3
[ N3
B OB 4 1,000 714K 4-6 250M % E 4-6 680M 3EHE 4-6-10 1,720H
8 B 4 190M9 4-10 590M B & 4-6 800M K31 4-6-10 11,300M
6 140/ 6-10 400 B H 4-6 3,010M
10 220M

ABICOVWTRDTEEERROODE. TR LIV,



